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== 14,630,662 14,448,362 182,300
£ 1,650,000 1,650,000 0
SAI|HE45) 1,015,122 1,045,822 30,700
SA0|Y 435 N 487,622 490,822 3,200
S0 HAKA 75,800 79,000 /3,200
307 QI2t0IA 75,800 79,000 A3,200
04 QIZFSHALE X 14,800 18,000 A3,200
OJIMQIH5| &g &koH 14,800 18,000 A3,200
A0 B2 527,500 555,000 A27,500
S2JIGHSE 20 s L oz S| 227,500 255,000 N27,500
307 CI2t0IA 227,500 255,000 227,500
02 QI2tAAEZX 197,500 225,000 A27,500
OZAJIHHE MAlS2s X SHAHoH 19,300 20,000 A700
OZEAJ|Y EHOIX HMZE & s EoH 22,100 30,000 A7,900
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402 QIZ2tXH=01A 18,000 0 18,000
01 2I2IXtE2E X 18,000 0 18,000
Oaxa30 2435 18,000 0 18,000
AAZOITI2X S OIXNEN 0 5,000 25,000
307 GI2t0IH 0 5,000 25,000
08 OlXIEEZ 0 5,000 A5,000
OAAZOXNZ2XE 0IXNEH 0 5,000 25,000
sHEEH2Y 14,046,000 4,500,000 9,546,000
=2 9,346,000 0 9,346,000
= 4,700,000 4,500,000 200,000
306 == 14,046,000 4,500,000 9,546,000
=2 9,346,000 0 9,346,000
< 4,700,000 4,500,000 200,000
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OSEESEEUE 29 (48H) 9,346,000 0 9,346,000
= 9,346,000 0 9,346,000
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